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Instructions: 1)  All questionsarecompulsory.
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3)

2) Eachquestion carriesonemark.

3) Answers should be marked in the given OMR answer sheet by
darkeningtheappropriateoption.

4)  Followtheinstructionsgiven on OMR sheet.
5  Roughwork shall bedoneon thesheet provided at theend of question
paper.

Which of thefollowing isnot astep involvedin gel filtration?
A) Gel preparation B) Precipitation
C) Sampleapplication D) Elution of the sample

Which class of the following enzymes catalyzes Hydrolysis reactions?
A) Hydrolase B) Oxidoreductase

C) Isomerase D) Ligase

At what temperature does the denaturation of DNA double helix takes place?

A) 54°C B) 72°C
C) 94°C D) 60°C
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Which of the following isamino acid?
A) Serine B) Alanine
C) Glycine D) Proline

Which of the following enzyme catalyzes the reversible degradation of 2-
phosphoglycerate to phosphoenolpyruvate?

A) Heédlicase B) Enolase

C) Chymotrypsin D) Hexokinase

Which of thefollowing isan example of epimers?
A) Mannose & Glucose B) Glucose & Ribose

C) Gadactose & Mannose D) Glucose & Galactose

Arrangement of nucleotidesin DNA can be seen using which of thefollowing
Instruments?

A) Electron microscope B) Light microscope

C) X-Ray crystalography D) Ultracentrifuge

Which of the following membrane lipids have a direct glycosidic linkage
between the head-group sugar and the backbone glycerol ?

A) Etherlipids B) Sphingolipids
C) Glycolipids D) Phospholipids

Which of the following isthe first amino group entering into ureacycle?
A) Argininosuccinate B) Citruilline

C) Carbamoyl phosphate D) Ornithine
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Which one of the following is the source of electrons in photosynthesis?

A) NADH B) Water

C) Carbohydrates D) CO,

Which of the following has beads on a string structure?

A) Nucleosomes B) Chromosomes

C) Heterochromatin D) Chromatin

Enzymes which have different molecular structure but has same function are
called as

A) Coenzymes B) Abyzyme

C) Isoenzymes D) Apoenzyme

Which of the following statement is Incorrect about SARNA?

A) Itissmal nuclear RNA B) Ithelpsin RNA splicing

C) Itisasocaled assnurps D) Itfunctionsin RNA editing
When asystemisat equilibrium, what will be the value of AG?

A) AG=0 B) AG=1

C) AG=-1 D) AG=AG°

Law of thermodynamics which states that energy can neither be created nor

be destroyed is the
A) Second law of thermodynamics  B) Thirdlaw of thermodynamics

C) First law of thermodynamics D) Zero-order kinetics
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The primary structure of DNA and RNA proceeds in which direction?

A) 3—>5 By 5—>3

C) 4——>6 D) 3——>¢6

Which of thefollowing isthe correct sequence for the movement of electrons
during the light-dependent reactions of plants?

A) P680, Water, P700, NADP* B) Water, P680, P700, NADP*

C) P700, P680, NADP*, Water D) Water, P700, NADP*, P680
Long-chain fatty acids are oxidized step-wise in one-carbon unit starting
from

A) Aliphaticend B) Carboxyl end

C) (A)and(B) D) None of the above

Whenever the cell’sATP supply is depleted, which of thefollowing enzyme's
activity isincreased?

A) Pyruvatekinase B) Phosphofructokinase-1

C) Hexokinase D) Glucokinase

Which of the following is not aflavoprotein?

A) NADH dehydrogenase-Q reductase B) Succinate dehydrogenase

C) Xanthineoxidase D) Cytochrome c

Which of thefollowing isagenetically modified crop?

A) Bt-cotton B) Bt-brinjd

C) Goldenrice D) All of theabove
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PCR technique was invented by PCR technique was invented by
A) Karry Mullis B) Boyer

C) Sanger D) Cohn

During electrophoresis DNA will

A) movetowardspositiveterminal B) stay ontheplaceof application

C) movetowardsnegativetermind D) move forward

The first human hormone produced by recombinant DNA technology
IS
A) Thyroxine B) Estrogen
C) Inaulin D) Progesterone
Which of thefollowing isawater solublevitamin?
A) VitaminB B) VitaminA
C) VitaminD D) VitaminK
Pair of hormones required for acallusto differentiateis
A) Ethyleneand Auxin B) Auxinand Cytokinin
C) AuxinandAbscisic acid D) Cytokininand Gibberellin
Synthetic seeds are produced by the encapsulation of somatic embryos
with
A) Sodium acetate B) Sodiumnitrate
C) Sodium chloride D) Sodiumalginate
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Totipotency refers to
A) development of fruitsfrom flowersin aculture

B) development of an organ from acell in aculture medium
C) floweringinaculture medium

D) 4l of theabove

Surface sterilisation of an explant in PTC is done by
A) Sodium hypochlorite B) Sodium hydroxide
C) Sodium chloride D) All of theabove
Which of the following is best suited method for production of virus free
plants?
A) Embryoculture B) Meristem culture
C) Ovuleculture D) Anther culture
The pH indicator in an animal tissue culture medium s
A) HEPES B) Phenol red
C) FBS D) L-Glutamine
Following are the methods of sterilization except
A) Dry heat sterilization B) Autoclaving
C) Sterilizationby filters D) Laminarairflow
Which of thefollowing cell typesretain highest biotransformation ability?
A) Continuouscell lines B) Finitecdl lines
C) Primarycdls D) Secondary cell lines
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In 1955 thefirst ever devel oped chemically defined ATC mediumwas :

A) Ham'sF12 medium
B) Eagle'sMinimum Essential Medium
C) Eagle'sBasa Medium

D) Dulbecco'sModified Eagle’sMedium

Trypan Blue is used to check
A) Cdlviability B) Celimaging
C) Cdl density counting D) All of the above
The portion of the growth curve where arapid growth of bacteriais observed
Is known as
A) Lagphase B) Logarithmic phase
C) Stationary phase D) Declinephase
According to Bergey’s Manual of Systematic Bacteriology, Prokaryotes that
lack acell wall belong to the group?
A) Gracilicutes B) Firmicutes
C) Tenericutes D) Mendosicutes
In bacteria percentage of peptidoglycan is high.
A) Protozoa B) Grampositive
C) Gramnegative D) Yeast
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of following are the club fungi.
A) Basdiomycota B) Ascomycota

C) Zygomycetes D) Chytridiomycota

Which microorganism(s) among the following perform photosynthesis by
utilizinglight?

A) Cyanobacteria
B) Fungi
C) Viruses

D) Cyanobacteria, Fungi and Viruses

Which among the following are produced by the use of microorganisms?
A) Fermented dairy products

B) Breads

C) Alcoholicbeverages

D) Fermented dairy products, breads and acoholic beverages

Which of the following media component isarich source of B vitamins?
A) Peptone B) Yeast extract
C) Beef extract D) Aga

Which of the following microorganism is the major inhabitant of the human
skin?

A) Escherichia coli B) Saphylococcus epidermidis

C) Saphylococcus aureus D) Sreptococcus pyogenes
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Which of the following virus may not show flu-like symptomsin humans?
A) Coronavirus B) Rhinovirus

C) Rotavirus D) Influenzavirus

Which of thefollowing genesis used to deduce the evolutionary relationship
between the taxonomic groups?

A) 16SrRNA B) 23SrRNA

C) 5SrRNA D) 18SrRNA

Which of thefollowing antibody givesaprimary immune reaction?

A) 19G B) IgM

C) IgA D) IgE

Monocytes differentiate into which kind of phagocytic cells?

A) Neutrophils B) Bcdls

C) Macrophages D) Tecdls

Which of the following types of the DNA isright handed helix?

A) A&Z B) B&Z

C) A&B D) Z&H

49) The DNA replication is always

A) Consarvative B) Semiconservative

C) Non-Conservative D) Dispersive
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Which of the following regarding the basic mechanism of gene expressionis
correct?

A) DNA —>tRNA —> protein B) DNA —> mRNA —> protein
C) RNA —> mRNA —> protein D) DNA —> protein

51) Which of the ribosome subunit NOT present in prokaryotes?

52)

53)

54)

55)

A) 50s B) 30s

C) 60s D) None of the above
Linking number isaways a

A) Whole number B) Primenumber

C) Integer D) Evennumber
Primosome is the complex of

A) Helicase + Topoisomerase B) Ligase+ Helicase
C) Heélicase+ Primase D) Primase+ Ligase
Which of the following is not atermination codon?

A) UGA B) UAC

C) UAG D) UAA

Phycology is the study of

A) Algee B) Fungi

C) Bacteria D) All theabove
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The algae that is exploited as arich source of proteinis
A) Spirogyra B) Spirulina
C) Chlamydomonas D) Scytonema
Which of the following isthe true statement about bryophytes?
A) they have chloroplasts B) they havearchegonia
C) theyarethdloid D) all of theabove
All the plantslike fern and mosses, which produce spores are grouped under
A) bryophytes B) cryptogams
C) thallophytes D) sporophytes
In India, coniferous forests are found in
A) Himaayas B) Western ghats
C) Easternghats D) Alltheabove
ICBN stands for :

A) Indian Congress of Biological Names
B) International Codefor Botanical Nomenclature
C) International Congressof Biological Names

D) Indian Code of Botanica Nomenclature
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The repository of plant taxonomy and systematicsis called as
A) Red data book B) Herbarium
C) Botanical garden D) Genomiclibrary

62) Vessels and Companion cells are characteristics of

63)

64)

65)

66)

A) Angiosperm B) Gymnosperm

C) Pteridophyta D) Fern

Which of thefollowing familiesis characterised by trimerousflowers, superior
andtrilocular ovary with axile placentation?

A)  Cucurbitaceae B) Solanaceae

C) Liliacese D) Compositae

A nano biological recognition component, which is involved in interacting
withtheanalyte moleculeiscalled as

A) biosensor B) probe

C) nano biosensor D) quantum dots
Nanomembranes have a pore size of

A) 1nm-10nm B) 10nm-100nm

C) 0.1nm-1nm D) 100nm-1000nm

The property of not having separate sexesin an organismiscalled as

A) Hermaphrodite B) Oogamous

C) Homogamous D) Heterogamous
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Arthropods excrete through
A) Malpighiantubules B) Pores
C) Nephridia D) Kidneys

Salamander is an example of

A) Reptile B) Osteichthyes
C) Amphibians D) Mammals

The pneumatic bones are characteristic of

A) Mammals B) Reptiles
C) Aves D) Lizards

Thesiteof fertilizationin thefemale Mammalian reproductive systemis
A) Vagina B) Uterus
C) Fdlopiantube D) Ovarianfimbriae

Which is the anti-coagulant substance in blood?
A) Thrombin B) Globin
C) Fibrinogen D) Heparin

The genotypic ratio of a dihybrid crossis

A) 31 B) 121
C) 1231 D) 9331
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Which of thefollowing animal isnot viviparous?
A) Whae B) Bat
C) Elephant D) Platypus

For a healthy resting adult person, the systolic/diastolic blood pressuresin
capillariesare

A) 120/80 mmHg B) 30/10mmHg
C) 10/0mmHg D) 160/120 mmHg

Food for the developing fetus is supplied by the
A) Placenta B) Allantois
C) Uterus D) Ovary

Which among the following isaNoble Gas?
A) Nitrogen B) Hydrogen
C) Oxygen D) Hdium

What is the bond angle between H,O molecule?
A) o B) 104.5°
C) 12 D) 180°

The inorganic benzeneis

A) xenontetrafluoride B) borazine

C) diborane D) xenontrioxide

-14-



ENT —22
79) [Fe(CN)J®is__

A) paramagnetic B) diamagnetic
C) terromagnetic D) ferromagnetic
80) is called as caustic soda.
A) NaOH B) KOH
C) NH,OH D) Ca(OH),
81) The phenolphthaleinindicator turns in akaline medium.
A) ydlow B) colorless
C) pink D) blue

82) Which of the following solutions cannot conduct el ectricity?
A) Sugarinwater B) NaClinwater
C) MgCl,inwater D) KClinwater

83) Two or more compounds that have the same chemical formula, but different
arrangement of atoms are called

A)  isotopes B) isotones

C) isomers D) adlotropes

84) Which among the following is most el ectronegative element?
A) Chlorine
B) Fluorine
C) Bromine

D) All of them have same electronegativity
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85) When Formaldehyde and Potassium hydroxide are heated, we get

A) Acetylene B) Methyl alcohol
C) Methane D) Ethyl formate
86) Scanner is an device.
A) Input B) Output
C) Storage D) Memory
87) 1Cswere used in generation of computers.
A) First B) Second
C) Third D) Fourth

88) Thelong form of HTTP is
A) Hyper Text Transfer Protocol B) Higher Text Transfer Protocol
C) Hyper Term Transfer Process D) None of the above

89) _ languageisaset of instructions coded with ‘zero’ and ‘one’.
A) Basc B) Machine
C) Cobal D) Fortran
90) Among following Is not part of CPU.
A)  Arithmetic Unit B) LogicUnit
C) HardDisk D) None of the above
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Among following term used to define all input and output

devices in acomputer system.

A) Software B) Hardware

C) Shared resources D) Monitor
programmeiswrittenin high-level language.

A) Office B) Source

C) Pel D) AWK

Statistical and Mathematical operationsare performed with the hel p of :

A) Microsoft Word B) Microsoft Power Point

C) Microsoft Excel D) None of these

Human Genome project was completed in

A) April 2000 B) March1998

C) December 2006 D) April 2003

Following among Is a nucleotide sequence database.

A) Swiss-Port B) PubMed

C) DDBJ D) PDB
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Is a hereditary disease?

A) Rabies B) Colour blindness
C) Poalio D) Small pox

isaviral disease.
A) Alzhemer B) Diabetes
C) Heartattack D) Influenza
The conditioninwhich the platelet count of anindividual isdrastically reduced
Is caled as :
A) Leucopoenia B) Thrombocytopenia
C) Leukaemia D) AIDS
Which one of the following is not afunction of kidney?

A) Removal of metabolic wastes from body
B) Regulation of blood pH
C) Regulation of osmotic pressure of blood

D) Production of antibodies

100) What isthe approximate time required for aheart-beat?

A) 0.8 second B) 0.6 second
C) 0.5 second D) 0.7 second

LA & 4
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